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Cuadro 13 (continuación 4)/Table 13 (continued 4)
Honduras: tablas abreviadas de mortalidada

Honduras: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.056 0.054  100 000  5 355  95 809 0.939 b 6 434 109 64.3
1 4 0.005 0.021  94 645  1 998  373 546 0.983 c 6 338 300 67.0
5 5 0.002 0.008  92 647   722  461 429 0.993 5 964 754 64.4

10 5 0.001 0.006  91 925   532  458 294 0.992 5 503 325 59.9
15 5 0.002 0.009  91 393   862  454 809 0.989 5 045 031 55.2
20 5 0.003 0.013  90 531  1 190  449 678 0.984 4 590 222 50.7
25 5 0.004 0.018  89 341  1 604  442 694 0.980 4 140 544 46.3
30 5 0.005 0.022  87 737  1 956  433 795 0.976 3 697 850 42.1
35 5 0.005 0.025  85 781  2 160  423 506 0.973 3 264 055 38.1
40 5 0.006 0.029  83 621  2 436  412 017 0.967 2 840 549 34.0
45 5 0.007 0.036  81 186  2 926  398 613 0.958 2 428 532 29.9
50 5 0.010 0.048  78 260  3 776  381 860 0.944 2 029 918 25.9
55 5 0.013 0.064  74 484  4 790  360 445 0.921 1 648 059 22.1
60 5 0.020 0.095  69 694  6 618  331 924 0.888 1 287 614 18.5
65 5 0.028 0.131  63 076  8 257  294 738 0.842  955 689 15.2
70 5 0.042 0.190  54 819  10 424  248 036 0.773  660 952 12.1
75 5 0.063 0.272  44 395  12 057  191 836 0.658  412 916 9.3
80 5 0.113 0.439  32 339  14 200  126 195 0.507  221 080 6.8
85 5 0.172 0.590  18 139  10 693  63 962 0.373  94 885 5.2
90 5 0.243 0.720  7 446  5 361  23 827 0.259  30 923 4.2
95 5 0.320 0.818  2 085  1 705  6 162 0.132 d  7 095 3.4

100 ω 0.407 1.000   380   380   933   933 2.5
Mujeres/Females

0 1 0.044 0.042  100 000  4 219  96 605 0.950 b 6 889 158 68.9
1 4 0.005 0.019  95 781  1 802  378 541 0.986 c 6 792 553 70.9
5 5 0.001 0.006  93 979   602  468 389 0.994 6 414 013 68.2

10 5 0.001 0.005  93 377   443  465 778 0.994 5 945 623 63.7
15 5 0.001 0.007  92 934   658  463 027 0.992 5 479 845 59.0
20 5 0.002 0.009  92 277   866  459 218 0.989 5 016 818 54.4
25 5 0.002 0.012  91 411  1 068  454 383 0.987 4 557 599 49.9
30 5 0.003 0.015  90 342  1 317  448 420 0.984 4 103 217 45.4
35 5 0.004 0.018  89 026  1 635  441 040 0.980 3 654 797 41.1
40 5 0.004 0.022  87 390  1 942  432 097 0.975 3 213 757 36.8
45 5 0.005 0.027  85 449  2 308  421 473 0.969 2 781 660 32.6
50 5 0.007 0.035  83 141  2 882  408 499 0.958 2 360 187 28.4
55 5 0.010 0.049  80 259  3 922  391 491 0.941 1 951 688 24.3
60 5 0.014 0.069  76 337  5 262  368 530 0.915 1 560 197 20.4
65 5 0.022 0.103  71 075  7 304  337 113 0.875 1 191 667 16.8
70 5 0.032 0.150  63 770  9 585  294 891 0.818  854 554 13.4
75 5 0.049 0.219  54 186  11 867  241 260 0.708  559 664 10.3
80 5 0.095 0.385  42 318  16 277  170 898 0.556  318 403 7.5
85 5 0.151 0.542  26 041  14 103  94 948 0.413  147 505 5.7
90 5 0.221 0.685  11 938  8 175  39 255 0.289  52 557 4.4
95 5 0.300 0.796  3 764  2 994  11 332 0.148 d  13 302 3.5

100 ω 0.390 1.000   769   769  1 970  1 970 2.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


